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BOARD DIPLOMA EXAMINATION, (C16/C-168S)
. NOVEMBER - 2019
111 SEMESTER (COMMON) EXAMINATION
| ENGINEERING MATHEMATICS-III

Time : 3 Hoprs] [Total Marks : 80

PART - A 3x10=30

Instructions : (1) Answer ALL questions.
(2) Each question carries THREE marks.
(3) Answer should be brief and straight to the point.

A Evaluate : J’.[x7+7x+% dx |
/2 E\Ixéluate : f x(lo;;r)z dx.
F  Evaluate : I 2 i Y dx
4 Evaluate : | }0:::; i
5  Evaluate - j;:e"'xafx.
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6 Evaluate : | ——5 &
_ v J;H—xz
7  Find the order and degree of the differential equation

_ 1+|£3’_r§
dx

A Find the differential equation by eliminating the arbitrary constants
A, B from the equation y = Asinx+ Bcosx.

dy 1+y2
9 Solve : —= .
dx 1+x2

10 TFind the integrating factor (LF.) of %+2ytanx: sin x

PART - B 10x5=50

Instructions : (1) Answer any FIVE questions.
(2) Each question carries TEN marks.

(3) Answer should be comprehensive and criterion for
valuation is the content but not the length of the
answer

I

4) (af Evaluate : J-‘_*j““‘_"j"dr.

sin”“ xcos” x

X

(b) Evaluate J(x 20(x l]dx_
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)6. (£) Evaluate : jsm3x'bt}s6xdx_

l .
(F) Evaluate - i TFonns dx
¥,
1™ (a) Evaluate : f ? e dx

‘VSlnx
‘(b) Evaluate : jo Ny el

14 (a) Find the area enclosed by the parabola y2 = 4ax, X-axis and

between the lines x =1 and x=4.
(b) Find the volume of the solid generated by revolving the area

bounded by the e]ﬁpse 4x? +9y7 — 36 about major axis.
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1 (a) Find the RMS. value of y= J; over the range x=0 to x=1.

1 © e g
(p’) Evaluate I Oxzdx approximately by dividing the interval [0, l]
into 10 equal sub-intervals using trapezoidal rule.

@6 (9) A river is 80 feet wide and the depth d in feet at a dlstance
"~ x ft. from one bank is given by

x {0{10120130140(50160|70]80

-

dio{4 1719112115114 83

»

Find the crogs-section area of the river using Simpson's 1/3 rule.

y .
(b) _ _.iuivc : % = (I + }’)2.

(e 3o ] Condo,
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, . & _2x-y
17 (a) Solve the homogeneous differential equation & x- y

(b) Solve - (x3 - SxyE)dx +;(}”3 -3x2y)afy =0,

%

18‘ {a) Solve : (1+x2)%+xy=3'3.

(b) Seclve the Bernoulli's equation x%+ y=x%72

http://www.sbtetonline.com
Whatsapp @ 9300930012
Your old paper & get 10/-
Qe Ugd del 3 10 30 U,

Paytm or Google Pay &

http://www.sbtetonline.com

WO dUIJU0INgs Mmmm//:dny



